
quiz 4 cmput 304 fall 2022

Solution for the first and the second variants of ques-
tion 1:



Solution for the third variant of question 1:



Solution for a variant of question 2:

All the vertices reachable from s in the last residual network
are: s, b, c, e, a. Since t is not in this list, there is no augmenting
path therefore we found a maximum flow.
Note that S := {s, a, b, c, e} form a minimum cut and the

value of cut S is the sum of capacity of edges exiting S minus the
capacity of the edges entering S in theORIGINAL GRAPH:
1 + 1 + 2 = 4. So the final answer is 4 {s, a, b, c, e}.


